MATHEMATICAL MODELLING AND ANALYSIS Volume 17 Number 3, June 2012, 330–350 http://dx.doi.org/10.3846/13926292.2012.685956 © Vilnius Gediminas Technical University, 2012

(1.1)

Existence of Multiple Positive Solutions for Quasilinear Elliptic Systems Involving Critical Hardy–Sobolev Exponents and Sign-Changing Weight Function

Nemat Nyamoradi

Faculty of Sciences, Razi University 67149 Kermanshah, Iran E-mail: nyamoradi@razi.ac.ir

Received April 26, 2011; revised March 6, 2012; published online June 1, 2012

Abstract. In this paper, we consider a class of quasilinear elliptic systems with weights and the nonlinearity involving the critical Hardy–Sobolev exponent and one sign-changing function. The existence and multiplicity results of positive solutions are obtained by variational methods.

Keywords: multiple positive solutions, Nehari manifold, critical Hardy–Sobolev exponent.

AMS Subject Classification: 35A15; 35B33; 35J70.

1 Introduction

The aim of this paper is to establish the existence and multiplicity of nontrivial non-negative solutions to the quasilinear elliptic system

$$\begin{cases} -\operatorname{div}(|x|^{-ap}|\nabla u|^{p-2}\nabla u) = \frac{1}{p^*|x|^{bp^*}}F_u(x,u,v) + \lambda f(x)\frac{1}{|x|^{\beta}}|u|^{q-2}u, & \text{in } \Omega, \\ -\operatorname{div}(|x|^{-ap}|\nabla v|^{p-2}\nabla v) = \frac{1}{n^*|x|^{bp^*}}F_v(x,u,v) + \mu f(x)\frac{1}{|x|^{\beta}}|v|^{q-2}v, & \text{in } \Omega, \end{cases}$$

$$u = v = 0, \qquad \qquad \text{on } \partial\Omega,$$

where $0 \in \Omega$ is a bounded domain in \mathbb{R}^N $(N \geq 3)$ with the smooth boundary $\partial \Omega$, $F \in C^1(\overline{\Omega} \times (\mathbb{R}^+)^2, \mathbb{R}^+)$ is positively homogeneous of degree p^* . Here $p^* = p(a,b) \triangleq \frac{pN}{N-p(1+a-b)}$ is the Hardy–Sobolev critical exponent. Note that $\mathbf{2}(a,a) = \frac{2N}{N-2} = 2^*$ is the Sobolev critical exponent. Thus $F(x,tu,tv) = t^{p^*}F(x,u,v)$ (t > 0) hold for all $(x,u,v) \in \overline{\Omega} \times (\mathbb{R}^+)^2$, $(F_u(x,u,v), F_v(x,u,v)) = \nabla F(x,u,v)$.

We make the following assumptions:

(A1)
$$\beta < (1+a)p_1 + N\left(1 - \frac{p_1}{p}\right)$$
, with $1 < q < p^*$, $1 < p_0 \leq \frac{Np}{N-p}$ and $q < p_1 < \frac{Np}{N-p}$ such that $\frac{1}{p_0} + \frac{q}{p_1} = 1$, $(\lambda, \mu) \in \mathbb{R}^2 \setminus \{(0,0)\}$ and $f(x) \in L^{p_0}(\Omega, |x|^{-\beta})$, with $f^{\pm}(x) = \max\{\pm f, 0\} \neq 0$.

Problem (1.1) is related to the well known Caffarelli–Kohn–Nirenberg inequality in [12, 22],

$$\left(\int\limits_{\mathbb{R}^N} |x|^{-bp^*} |u|^{p^*} dx\right)^{\frac{p}{p^*}} \le C_{a,b} \int\limits_{\mathbb{R}^N} |x|^{-ap} |\nabla u|^p dx, \text{ for all } u \in C_0^\infty(\mathbb{R}^N), (1.2)$$

where $1 , <math>-\infty < a < \frac{N-p}{p}$, $a \le b \le a+1$, $p^* = \frac{Np}{N-p(1+a-b)}$. If $1 and <math>-\infty < a < \frac{N-p}{p}$ we denote by $W_0^{1,p}(\Omega, |x|^{-ap})$ the

completion of $C_0^{\infty}(\Omega)$ with respect to the norm

$$||u|| = \left(\int_{\Omega} |x|^{-ap} |\nabla u|^p \, dx\right)^{1/p}$$

By using the inequality (1.2) and the boundedness of Ω , was proved in [22] that there exists C > 0 such that

$$\left(\int_{\Omega} |x|^{-\delta} |u|^r \, dx\right)^{p/r} \le C \int_{\Omega} |x|^{-ap} |\nabla u|^p \, dx, \text{ for all } u \in W_0^{1,p}\big(\Omega, |x|^{-ap}\big),$$

where $1 \le r \le \frac{Np}{N-p}$, $\delta \le (a+1)r + N[1-(r/p)]$, which is said the Caffarelli– Kohn–Nirenberg's inequality. In other words, the embedding $W_0^1(\Omega, |x|^{-ap}) \hookrightarrow$ $L^r(\Omega, |x|^{-\delta})$ is continuous if $1 \le r \le \frac{Np}{N-p}$ and $\delta \le (a+1)r + N[1-(r/p)].$ Moreover, this embedding is compact if $1 \le r < \frac{Np}{N-p}$ and $\delta < (a+1)r + N[1-p]$ (r/p)], see Theorem 2.1 in [22] for the case when $\nu = 0$. Now, we define the space $W = W_0^{1,p}(\Omega, |x|^{-ap}) \times W_0^{1,p}(\Omega, |x|^{-ap})$ with the

norm

$$\left\| (u,v) \right\| = \left(\int_{\Omega} |x|^{-ap} |\nabla u|^p \, dx + \int_{\Omega} |x|^{-ap} |\nabla v|^p \, dx \right)^{1/p}$$

Also, we can define the best Hardy–Sobolev constant:

$$A = \mathbf{A}_{a,b}(\Omega) = \inf_{u \in W_0^{1,p}(\Omega, |x|^{-ap}) \setminus \{0\}} \frac{\int_{\Omega} |x|^{-ap} |\nabla u|^p \, dx}{\left(\int_{\Omega} |x|^{-bp^*} |u|^{p^*} \, dx\right)^{\frac{p}{p^*}}}$$

In recent years, several authors have used the Nehari manifold to solve semilinear and quasilinear problems (see [1, 2, 6, 7, 8, 9, 10, 16, 20] and references therein). Brown and Zhang [11] have studied a subcritical semi-linear elliptic equation with a sign-changing weight function and a bifurcation real parameter in the case p = 2 and Dirichlet boundary conditions. Exploiting the relationship between the Nehari manifold and fibering maps (i.e., maps of the form $t \mapsto J_{\lambda}(tu)$ where J_{λ} is the Euler functional associated with the equation), they gave an interesting explanation of the well-known bifurcation result. In fact, the nature of the Nehari manifold changes as the parameter λ crosses the bifurcation value. In this work, we give a variational method which is similar to the fibering method (see [14] or [6, 11]) to prove the existence of at least two nontrivial nonnegative solutions of problem (1.1). Some authors also studied the singular problems with Hardy–Sobolev critical exponents ([3, 17, 18] the references therein).

Before stating our results, we need the following assumptions:

- (H1) $F: \overline{\Omega} \times (\mathbb{R}^+) \times (\mathbb{R}^+) \to \mathbb{R}^+$ is a C^1 function such that $F(x, tu, tv) = t^{p^*}F(x, u, v) \ (t > 0)$ hold for all $(x, u, v) \in \overline{\Omega} \times (\mathbb{R}^+)^2$;
- (H2) $F(x, u, 0) = F(x, 0, v) = F_u(x, u, 0) = F_v(x, 0, v) = 0$ where $u, v \in \mathbb{R}^+$;
- (H3) $F_u(x, u, v)$, $F_v(x, u, v)$ are strictly increasing functions about u, v for all u > 0, v > 0.

Moreover, using assumption (H1), we have the so-called Euler identity

$$(u,v) \cdot \nabla F(x,u,v) = p^* F(x,u,v), \tag{1.3}$$

$$F(x, u, v) \le K \left(|u|^p + |v|^p \right)^{\frac{p^*}{p}}, \quad \text{for some constant } K > 0.$$
(1.4)

This paper is divided into three sections, organized as follows. In Section 2, we give some notations, preliminaries, properties of the Nehari manifold and set up the variational framework of the problem. In Section 3, we give our main results.

2 Preliminaries

Let us consider Ω a domain in \mathbb{R}^N , $0 \in \Omega$, $1 , <math>0 \le a < (N-p)/p$, $a \le b < a + 1$ and $p^* = \frac{pN}{N-p(1+a-b)}$. We define the space

$$W_{a,e}^{1,p}(\Omega) = \left\{ u \in L^{p^*} \left(\Omega, |x|^{-\mathbf{b}p} \right) \colon |\nabla u| \in L^p \left(\Omega, |x|^{-ap} \right) \right\},\$$

equipped with the norm

$$\|u\|_{W^{1,p}_{a.e}(\Omega)} := \|u\|_{L^{p^*}(\Omega,|x|^{-bp^*})} + \|\nabla u\|_{L^p(\Omega,|x|^{-ap})}.$$

We consider the constant $\widetilde{S}_{a,p}$ given by

$$\widetilde{S}_{a,p} := \inf \left\{ \frac{\int_{\mathbb{R}^N} |x|^{-ap} |\nabla u|^p \, dx}{(\int_{\mathbb{R}^N} |x|^{-bp^*} |u|^{p^*} \, dx)^{\frac{p}{p^*}}} \colon u \in W^{1,p}_{a,e}(\mathbb{R}^N) \setminus \{0\} \right\}.$$

Also, we define

$$R^{1,p}_{a.e}(\varOmega) = \left\{ u \in W^{1,p}_{a.e}(\varOmega) \colon u(x) = u\big(|x|\big) \right\},$$

endowed with the norm

$$||u||_{R^{1,p}_{a.e}(\Omega)} = ||u||_{W^{1,p}_{a.e}(\Omega)}.$$

Actually, Horiuchi in [15] proved that, if $a \ge 0$,

$$\widetilde{S}_{a,p,R} := \inf \left\{ \frac{\int_{\mathbb{R}^N} |x|^{-ap} |\nabla u|^p \, dx}{\left(\int_{\mathbb{R}^N} |x|^{-bp^*} |u|^{p^*} \, dx\right)^{\frac{p}{p^*}}} \colon u \in R^{1,p}_{a,e}(\mathbb{R}^N) \setminus \{0\} \right\} = \widetilde{S}_{a,p},$$

and it is achieved by functions of the form

$$y_{\epsilon}(x) := k_{a,p}(\epsilon) U_{a,p,\epsilon}(x), \quad \forall \epsilon > 0,$$

where

 $k_{a,p}(\epsilon) = \widetilde{c}\epsilon^{\frac{N-p(1+a-b)}{p^2(1+a-b)}}, \text{ and } U_{a,p,\epsilon}(x) = \left(\epsilon + |x|^{\frac{p(1+a-b)(N-p-ap)}{(p-1)(N-p(1+a-b))}}\right)^{-\frac{N-p(1+a-b)}{p(1+a-b)}}.$

We observe that by the Caffarelli–Kohn–Nirenberg's inequality follows that $W_0^{1,p}(\Omega, |x|^{-ap})$ is a subset of $W_{a,e}^{1,p}(\mathbb{R}^N)$, then $\widetilde{S}_{a,p} \leq A$.

We need the following lemma (the proof of this lemma follows exactly as in [19]).

Lemma 1. Let R_1 , c_1 be positive constants with $B(0, 3R_1) \subset \Omega$ and $\psi \in C_0^{\infty}(B(0, 3R_1))$ with $\psi \geq 0$ in $B(0, 3R_1)$ and $\psi = 1$ in $B(0, 2R_1)$, then the function given by

$$u_{\epsilon}(x) := \psi(x)U_{a,p,\epsilon}(x) / \|\psi U_{a,p,\epsilon}\|_{L^{p^*}(\Omega,|x|^{-bp})}$$

satisfies

$$\|u_{\epsilon}\|_{L^{p^{*}}(\Omega,|x|^{-bp})}^{p^{*}} = 1, \qquad \|\nabla u_{\epsilon}\|_{L^{p}(\Omega,|x|^{-ap})}^{p} \leq \widetilde{S}_{a,p,R} + O(\epsilon^{\frac{N-p(1+a-b)}{p(1+a-b)}}),$$

and

$$\begin{split} \left| f^{1/q} u_{\epsilon} \right\|_{L^{q}(\Omega, |x|^{-\beta})}^{q} \\ &\geq \begin{cases} O(\epsilon^{\frac{(N-p(1+a-b))q}{p^{2}(1+a-b)}}), & \text{if } q < \frac{(N-\beta)(p-1)}{N-p-ap}, \\ O(\epsilon^{\frac{(N-p(1+a-b))q}{p^{2}(1+a-b)}} |\ln(\epsilon)|), & \text{if } q = \frac{(N-\beta)(p-1)}{N-p-ap}, \\ O(\epsilon^{\frac{(N-p(1+a-b))(p-1)[(N-\beta)p-(N-p-ap)q]}{p^{2}(1+a-b)(N-p-ap)}}), & \text{if } q > \frac{(N-\beta)(p-1)}{N-p-ap}, \end{cases}$$
(2.1)

for all $f \in L^{p_0}(\Omega, |x|^{-\beta})$ with $f \ge 0$ for a.e. in $B(0, 3R_1)$ and $\inf_{B(0,2R)} f > 0$ for some $0 < R \le R_1$. Moreover, the inequality (2.1) is uniform in $f \in L^{p_0}(\Omega, |x|^{-\beta})$ satisfying: $f \ge 0$ for a.e. in $B(0, 3R_1)$ and

$$\left(1+R^{\frac{p(1+a-b)(N-p-ap)}{(p-1)(N-p(1+a-b))}}\right)^{-\frac{(N-p(1+a-b))q}{p(1+a-b)}}R^{N-\beta}\inf_{B(0,2R)}f\geq c_1,$$

for some $R \in (0, R_1]$.

Now, by (1.3) the corresponding energy functional of problem (1.1) is defined by

$$J_{\lambda,\mu}(u,v) = \frac{1}{p} \left\| (u,v) \right\|^p - \frac{1}{p^*} \int_{\Omega} |x|^{-bp^*} F(x,u,v) \, dx - \frac{1}{q} K_{\lambda,\mu}(u,v),$$

for each $(u, v) \in W$, where $K_{\lambda,\mu}(u, v) = \int_{\Omega} (\lambda f |x|^{-\beta} |u|^q + \mu f |x|^{-\beta} |v|^q) dx$. In order to verify $J_{\lambda,\mu} \in C^1(W, \mathbb{R})$, we need the following lemmas.

Lemma 2. Suppose that (H3) holds. Assume that $F \in C^1(\overline{\Omega} \times \mathbb{R}^2, \mathbb{R})$ is positively homogeneous of degree p^* , then $F_u, F_v \in C(\overline{\Omega} \times \mathbb{R}^{+2}, \mathbb{R}^+)$ are positively homogeneous of degree $p^* - 1$.

Moreover by the Lemma 2, we get the existence of a positive constant M such that

$$\left|F_{u}(x,u,v)\right| \leq M\left(|u|^{p^{*}-1} + |v|^{p^{*}-1}\right),\tag{2.2}$$

$$\left|F_{v}(x,u,v)\right| \leq M\left(|u|^{p^{*}-1}+|v|^{p^{*}-1}\right), \quad \forall x \in \overline{\Omega}, \ u,v \in \mathbb{R}^{+}.$$
 (2.3)

By the weighted Hardy–Sobolev inequality, (2.2) and (2.3), $J_{\lambda,\mu} \in C^1(W,\mathbb{R})$.

Now, we consider the problem (1.1) on the Nehari manifold. Define the Nehari manifold

$$N_{\lambda,\mu} = \left\{ (u,v) \in W \setminus \left\{ (0,0) \right\} \mid \left\langle J'_{\lambda,\mu}(u,v), (u,v) \right\rangle = 0 \right\},\$$

where

$$\langle J'_{\lambda,\mu}(u,v),(u,v)\rangle = \|(u,v)\|^p - \int_{\Omega} |x|^{-bp^*} F(x,u,v) \, dx - K_{\lambda,\mu}(u,v).$$

Note that $N_{\lambda,\mu}$ contains every nonzero solution of (1.1). Define

$$\Phi_{\lambda,\mu}(u,v) = \left\langle J_{\lambda,\mu}'(u,v), (u,v) \right\rangle,$$

then for $(u, v) \in N_{\lambda, \mu}$

$$\langle \Phi'_{\lambda,\mu}(u,v), (u,v) \rangle = p \| (u,v) \|^p - p^* \int_{\Omega} |x|^{-bp^*} F(x,u,v) \, dx - q K_{\lambda,\mu}(u,v)$$
 (2.4)

$$= (p-q) \| (u,v) \|^{p} - (p^{*}-q) \int_{\Omega} |x|^{-bp^{*}} F(x,u,v) dx$$
(2.5)

$$= (p - p^*) \| (u, v) \|^p - (q - p^*) K_{\lambda, \mu}(u, v)$$
(2.6)

$$= (p - p^*) \int_{\Omega} |x|^{-bp^*} F(x, u, v) \, dx - (q - p) K_{\lambda, \mu}(u, v).$$
(2.7)

Now, we split $N_{\lambda,\mu}$ into three parts:

$$\begin{split} N^+_{\lambda,\mu} &= \big\{ (\mathbf{u},\mathbf{v}) \in N_{\lambda,\mu} \colon \big\langle \varPhi'_{\lambda,\mu}(u,v), (u,v) \big\rangle > 0 \big\},\\ N^0_{\lambda,\mu} &= \big\{ (u,v) \in N_{\lambda,\mu} \colon \big\langle \varPhi'_{\lambda,\mu}(u,v), (u,v) \big\rangle = 0 \big\},\\ N^-_{\lambda,\mu} &= \big\{ (u,v) \in N_{\lambda,\mu} \colon \big\langle \varPhi'_{\lambda,\mu}(u,v), (u,v) \big\rangle < 0 \big\}. \end{split}$$

To state our main result, we now present some important properties of $N^+_{\lambda,\mu}$, $N^0_{\lambda,\mu}$ and $N^-_{\lambda,\mu}$.

Lemma 3. There exists a positive number $\Lambda = \Lambda(q, N, K, C, |\Omega|) > 0$ such that if

$$0 < \left(|\lambda| \|f\|_{L^{p_0}(\Omega, |x|^{-\beta})} \right)^{\frac{p}{p-q}} + \left(|\mu| \|f\|_{L^{p_0}(\Omega, |x|^{-\beta})} \right)^{\frac{p}{p-q}} < \Lambda,$$

then $N^0_{\lambda,\mu} = \emptyset$.

$$\Lambda = \left(\frac{p-q}{K(p^*-q)}\right)^{\frac{p}{p^*-p}} \left(\frac{p^*-p}{p^*-q}\right)^{\frac{p}{p-q}} C^{-\frac{p^*}{p^*-p}-\frac{q}{p-q}}$$

there exists (λ, μ) with

$$0 < \left(|\lambda| \|f\|_{L^{p_0}(\Omega, |x|^{-\beta})}\right)^{\frac{p}{p-q}} + \left(|\mu| \|f\|_{L^{p_0}(\Omega, |x|^{-\beta})}\right)^{\frac{p}{p-q}} < \Lambda,$$

such that $N^0_{\lambda,\mu} \neq \emptyset$. Then for $(u,v) \in N^0_{\lambda,\mu}$, by (2.5) and (2.6) we have

$$0 = \langle \Phi'_{\lambda,\mu}(u,v), (u,v) \rangle = (p-q) ||(u,v)||^p - (p^*-q) \int_{\Omega} |x|^{-bp^*} F(x,u,v) dx$$

= $(p-p^*) ||(u,v)||^p - (q-p^*) K_{\lambda,\mu}(u,v).$

By the Caffarelli – Kohn – Nirenberg inequality, the Minkowski inequality and estimate (1.4), one can get

$$\int_{\Omega} |x|^{-bp^{*}} F(x, u, v) \, dx \leq K \bigg(\int_{\Omega} |x|^{-bp^{*}} \big(|u|^{p} + |v|^{p} \big)^{\frac{p^{*}}{p}} \, dx \bigg)^{\frac{p}{p^{*}} \cdot \frac{p^{*}}{p}} \\ \leq K \bigg(\bigg(\int_{\Omega} |x|^{-bp^{*}} |u|^{p^{*}} \, dx \bigg)^{\frac{p}{p^{*}}} + \bigg(\int_{\Omega} |x|^{-bp^{*}} |v|^{p^{*}} \, dx \bigg)^{\frac{p}{p^{*}}} \bigg)^{\frac{p^{*}}{p}} \\ \leq K C^{\frac{p^{*}}{p}} \big(||u||^{p} + ||v||^{p} \big)^{\frac{p^{*}}{p}} = K C^{\frac{p^{*}}{p}} \big| |(u, v)| \big|^{p^{*}}.$$
(2.8)

Also, by the Hölder and Caffarelli-Kohn-Nirenberg's inequalities, we have

$$\begin{split} \frac{p^* - p}{p^* - q} \| (u, v) \|^p &= K_{\lambda, \mu}(u, v) \\ &= \int_{\Omega} \lambda f |x|^{-\beta} |u|^q \, dx + \int_{\Omega} \mu f |x|^{-\beta} |v|^q \, dx \\ &\leq |\lambda| \bigg(\int_{\Omega} \big(f |x|^{-\beta} \big)^{p_0} \, dx \bigg)^{1/p_0} \bigg(\int_{\Omega} |u|^{p_1} \, dx \bigg)^{q/p_1} \\ &+ |\mu| \bigg(\int_{\Omega} \big(f |x|^{-\beta} \big)^{p_0} \, dx \bigg)^{1/p_0} \bigg(\int_{\Omega} |v|^{p_1} \, dx \bigg)^{q/p_1} \\ &\leq |\lambda| \| f \|_{L^{p_0}(\Omega, |x|^{-\beta})} \| u \|_{L^{p_1}}^q + |\mu| \| f \|_{L^{p_0}(\Omega, |x|^{-\beta})} \| v \|_{L^{p_1}}^q \\ &\leq C^{\frac{q}{p}} \big(|\lambda| \| f \|_{L^{p_0}(\Omega, |x|^{-\beta})} \| u \|^q + |\mu| \| f \|_{L^{p_0}(\Omega, |x|^{-\beta})} \| v \|^q \big) \\ &\leq C^{\frac{q}{p}} \big(\big(|\lambda| \| f \|_{L^{p_0}(\Omega, |x|^{-\beta})} \big)^{\frac{p}{p-q}} + \big(|\mu| \| f \|_{L^{p_0}(\Omega, |x|^{-\beta})} \big)^{\frac{p-q}{p-q}} \big\| (u, v) \big\|^q. \end{split}$$

Thus

$$\left\|(u,v)\right\| \ge \left(\frac{p-q}{K(p^*-q)}C^{-\frac{p^*}{p}}\right)^{\frac{1}{p^*-p}},$$

and

$$\|(u,v)\| \le \left(\frac{p^* - q}{p^* - p}C^{\frac{q}{p}}\right)^{\frac{1}{p-q}} \left[\left(|\lambda|\|f\|_{L^{p_0}(\Omega,|x|^{-\beta})}\right)^{\frac{p}{p-q}} + \left(|\mu|\|f\|_{L^{p_0}(\Omega,|x|^{-\beta})}\right)^{\frac{p}{p-q}}\right]^{\frac{1}{p}}.$$

This implies

$$\left(|\lambda| \|f\|_{L^{p_0}(\Omega, |x|^{-\beta})}\right)^{\frac{p}{p-q}} + \left(|\mu| \|f\|_{L^{p_0}(\Omega, |x|^{-\beta})}\right)^{\frac{p}{p-q}} \ge \Lambda.$$

This is a contradiction! Therefore, we can conclude that there exists $\Lambda > 0$ such that for

$$0 < \left(|\lambda| \|f\|_{L^{p_0}(\Omega, |x|^{-\beta})} \right)^{\frac{p}{p-q}} + \left(|\mu| \|f\|_{L^{p_0}(\Omega, |x|^{-\beta})} \right)^{\frac{p}{p-q}} < \Lambda,$$

$$N_{p_0}^0 = \emptyset, \quad \Box$$

we have $N^0_{\lambda,\mu} = \emptyset$. \Box

Lemma 4. The energy functional $J_{\lambda,\mu}$ is coercive and bounded below on $N_{\lambda,\mu}$.

Proof. If $(u, v) \in N_{\lambda,\mu}$, then by the Hölder inequality and Caffarelli–Kohn–Nirenberg's inequality, we can get

$$J_{\lambda,\mu}(u,v) = \frac{p^* - p}{pp^*} \|(u,v)\|^p - \frac{p^* - q}{qp^*} K_{\lambda,\mu}(u,v)$$

$$\geq \frac{p^* - p}{pp^*} \|(u,v)\|^p - \frac{p^* - q}{qp^*} C^{\frac{q}{p}} [(|\lambda|\|f\|_{L^{p_0}(\Omega,|x|^{-\beta})})^{\frac{p}{p-q}} + (|\mu|\|f\|_{L^{p_0}(\Omega,|x|^{-\beta})})^{\frac{p}{p-q}} \|(u,v)\|^q.$$

Since 1 < q < p, we see that $J_{\lambda,\mu}$ is coercive and bounded below on $N_{\lambda,\mu}$. \Box

Furthermore, similar to the argument in Brown and Zhang [4, Theorem 2.3] (or see Binding [4], Drábek, and Huang [11]), we can conclude the following result.

Lemma 5. Assume that (u_0, v_0) is a local minimizer for $J_{\lambda,\mu}$ on $N_{\lambda,\mu}$ and that $(u_0, v_0) \notin N^0_{\lambda,\mu}$. Then $J'_{\lambda,\mu}(u_0, v_0) = 0$ in W^{-1} (the dual space of Sobolev space W).

By Lemma 3, we let

$$\Theta_{\Lambda_{0}} = \left\{ (\lambda, \mu) \in \mathbb{R}^{2} \setminus \left\{ (0, 0) \right\} : 0 < \left(|\lambda| \| f \|_{L^{p_{0}}(\Omega, |x|^{-\beta})} \right)^{\frac{p}{p-q}} \\ + \left(|\mu| \| f \|_{L^{p_{0}}(\Omega, |x|^{-\beta})} \right)^{\frac{p}{p-q}} < \Lambda_{0} \right\},$$

where $\Lambda_0 = \left(\frac{q}{p}\right)^{\frac{p}{p-q}} \Lambda < \Lambda$. If $(\lambda, \mu) \in \Theta_{\Lambda_0}$, we have $N_{\lambda,\mu} = N_{\lambda,\mu}^+ \cup N_{\lambda,\mu}^-$. Define

$$\begin{aligned} \theta_{\lambda,\mu} &= \inf_{(u,v)\in N_{\lambda,\mu}} J_{\lambda,\mu}(u,v), \quad \theta_{\lambda,\mu}^+ &= \inf_{(u,v)\in N_{\lambda,\mu}^+} J_{\lambda,\mu}(u,v) \\ \theta_{\lambda,\mu}^- &= \inf_{(u,v)\in N_{\lambda,\mu}^-} J_{\lambda,\mu}(u,v). \end{aligned}$$

Lemma 6. There exists a positive number Λ_0 such that if $(\lambda, \mu) \in \Theta_{\Lambda_0}$, then

- (i) $\theta_{\lambda,\mu} < \theta^+_{\lambda,\mu} < 0;$
- (ii) there exists $d_0 = d_0(p, q, N, K, C, \lambda, \mu) > 0$ such that $\theta_{\lambda, \mu}^- > d_0$.

Proof. (i) For $(u, v) \in N^+_{\lambda,\mu}$, by (2.6), we have

$$K_{\lambda,\mu}(u,v) \ge \frac{p^* - p}{p^* - q} \|(u,v)\|^p$$

and so

$$J_{\lambda,\mu}(u,v) = \left(\frac{1}{p} - \frac{1}{p^*}\right) \left\| (u,v) \right\|^p - \left(\frac{1}{q} - \frac{1}{p^*}\right) K_{\lambda,\mu}(u,v)$$

$$\leq \left(\frac{1}{p} - \frac{1}{p^*}\right) \left\| (u,v) \right\|^p - \left(\frac{1}{q} - \frac{1}{p^*}\right) \frac{p^* - p}{p^* - q} \left\| (u,v) \right\|^p$$

$$\leq \frac{p^* - p}{p^*} \left(\frac{1}{p} - \frac{1}{q}\right) \left\| (u,v) \right\|^p < 0.$$

Thus, from definition of $\theta_{\lambda,\mu}$ and $\theta^+_{\lambda,\mu}$, we can deduce that $\theta_{\lambda,\mu} < \theta^+_{\lambda,\mu} < 0$. (ii) For $(u,v) \in N^-_{\lambda,\mu}$, by Lemma 3,

$$\left\| (u,v) \right\| \ge \left(\frac{p-q}{K(p^*-q)} \right)^{\frac{1}{p^*-p}} C^{-\frac{p^*}{p(p^*-p)}}.$$

Moreover, by Lemma 4,

$$\begin{split} J_{\lambda,\mu}(u,v) &\geq \frac{p^* - p}{pp^*} \| (u,v) \|^p - \frac{p^* - q}{qp^*} C^{\frac{q}{p}} \big[\big(|\lambda| \|f\|_{L^{p_0}(\Omega, |x|^{-\beta})} \big)^{\frac{p}{p-q}} \\ &+ \big(|\mu| \|f\|_{L^{p_0}(\Omega, |x|^{-\beta})} \big)^{\frac{p}{p-q}} \big]^{\frac{p-q}{p}} \| (u,v) \|^q \\ &= \| (u,v) \|^q \bigg[\frac{p^* - p}{pp^*} \| (u,v) \|^{p-q} - \frac{p^* - q}{qp^*} C^{\frac{q}{p}} \big(\big(|\lambda| \|f\|_{L^{p_0}(\Omega, |x|^{-\beta})} \big)^{\frac{p}{p-q}} \big) \\ &+ \big(|\mu| \|f\|_{L^{p_0}(\Omega, |x|^{-\beta})} \big)^{\frac{p}{p-q}} \big)^{\frac{p-q}{p}} \bigg] \\ &\geq \bigg(\frac{p-q}{K(p^* - q)} \bigg)^{\frac{q}{p^* - p}} C^{-\frac{qp^*}{p(p^* - p)}} \bigg[\frac{p^* - p}{pp^*} \| (u,v) \|^{p-q} - \frac{p^* - q}{qp^*} C^{\frac{q}{p}} \\ &\times \big(\big(|\lambda| \|f\|_{L^{p_0}(\Omega, |x|^{-\beta})} \big)^{\frac{p}{p-q}} + \big(|\mu| \|f\|_{L^{p_0}(\Omega, |x|^{-\beta})} \big)^{\frac{p-q}{p-q}} \bigg]. \end{split}$$

Thus, if

$$0 < \left(|\lambda| \|f\|_{L^{p_0}(\Omega, |x|^{-\beta})} \right)^{\frac{p}{p-q}} + \left(|\mu| \|f\|_{L^{p_0}(\Omega, |x|^{-\beta})} \right)^{\frac{p}{p-q}} < \Lambda_0,$$

then for each $(u, v) \in N^{-}_{\lambda, \mu}$ we have

$$J_{\lambda,\mu}(u,v) \ge d_0 = d_0(p,q,N,K,C,\lambda,\mu) > 0. \qquad \Box$$

For each $(u, v) \in W \setminus \{(0, 0)\}$ such that $\int_{\Omega} F(x, u^+, v^+) dx > 0$, let

$$t_{\max} = \left(\frac{(p-q)\|(u,v)\|^p}{(p^*-q)\int_{\Omega} |x|^{-bp^*} F(x,u,v) \, dx}\right)^{\frac{1}{p^*-p}}.$$

Lemma 7. Assume that

$$0 < \left(|\lambda| ||f||_{L^{p_0}(\Omega, |x|^{-\beta})} \right)^{\frac{p}{p-q}} + \left(|\mu| ||f||_{L^{p_0}(\Omega, |x|^{-\beta})} \right)^{\frac{p}{p-q}} < \Lambda_0$$

Then, for every $(u, v) \in W$ with $\int_{\Omega} F(x, u^+, v^+) dx > 0$ there exists $t_{\max} > 0$ such that

(i) if $K_{\lambda,\mu}(u,v) \leq 0$, then, there is a unique $t^- > t_{\max}$ such that $(t^-u, t^-v) \in N_{\lambda,\mu}^-$ and

$$J_{\lambda,\mu}(t^-u,t^-v) = \sup_{t\geq 0} J_{\lambda,\mu}(tu,tv);$$

(ii) if $K_{\lambda,\mu}(u,v) > 0$, then, there are unique t^+ and t^- with $0 < t^+ < t_{\max} < t^-$ such that $(t^{\pm}u, t^{\pm}v) \in N^{\pm}_{\lambda,\mu}$ and

$$J_{\lambda,\mu}(t^+u,t^+v) = \inf_{0 \le t \le t_{\max}} J_{\lambda,\mu}(tu,tv), \quad J_{\lambda,\mu}(t^-u,t^-v) = \sup_{t \ge 0} J_{\lambda,\mu}(tu,tv).$$

Proof. Fix $(u, v) \in W$ with $\int_{\Omega} F(x, u, v) dx > 0$, let

$$m(t) = t^{p-q} \left\| (u, v) \right\|^p - t^{p^*-q} \int_{\Omega} |x|^{-bp^*} F(x, u, v) \, dx,$$

for $t \ge 0$. Clearly, m(0) = 0 and $m(t) \to -\infty$ as $t \to \infty$. Since

$$m'(t) = (p-q)t^{p-q-1} \| (u,v) \|^p - (p^*-q)t^{p^*-q-1} \int_{\Omega} F(x,u,v) \, dx,$$

there is a unique $t_{\max} > 0$ such that m(t) achieves its maximum at t_{\max} , increasing for $t \in [0, t_{\max})$ and decreasing for $t \in (t_{\max}, \infty)$ with $\lim_{t\to\infty} m(t) = -\infty$. Clearly, $(tu, tv) \in N^+_{\lambda,\mu}$ (or $N^-_{\lambda,\mu}$) if and only if m'(t) > 0 (or < 0). Moreover,

$$\begin{split} m(t_{\max}) &= \left(\frac{(p-q)\|(u,v)\|^p}{(p^*-q)\int_{\Omega}|x|^{-bp^*}F(x,u,v)\,dx}\right)^{\frac{p-q}{p^*-p}} \left\|(u,v)\right\|^p \\ &- \left(\frac{(p-q)\|(u,v)\|^p}{(p^*-q)\int_{\Omega}|x|^{-bp^*}F(x,u,v)\,dx}\right)^{\frac{p^*-q}{p^*-p}} \int_{\Omega}|x|^{-bp^*}F(x,u,v)\,dx \\ &= \|(u,v)\|^q \left[\left(\frac{p-q}{p^*-q}\right)^{\frac{p-q}{p^*-p}} - \left(\frac{p-q}{p^*-q}\right)^{\frac{p^*-q}{p^*-p}} \right] \\ &\times \left(\frac{\|(u,v)\|^{p^*}}{\int_{\Omega}|x|^{-bp^*}F(x,u,v)\,dx}\right)^{\frac{p-q}{p^*-p}} \\ &\geq \left(\frac{p-q}{p^*-q}\right)^{\frac{p-q}{p^*-p}} \left(\frac{p^*-p}{p^*-q}\right) \left(\frac{1}{KC^{\frac{p^*}{p}}}\right)^{\frac{p-q}{p^*-p}} \|(u,v)\|^q. \end{split}$$

338

(i) $K_{\lambda,\mu}(u,v) \leq 0$, then, there is unique $t^- > t_{\max}$ such that $m(t^-) = K_{\lambda,\mu}(u,v)$ and $m'(t^-) < 0$. Now,

$$\begin{aligned} (p-q)(t^{-})^{p} \big\| (u,v) \big\|^{p} - (p^{*}-q)(t^{-})^{p^{*}} \int_{\Omega} |x|^{-bp^{*}} F(x,u,v) \, dx \\ &= (t^{-})^{q+1} m(t^{-}) < 0, \end{aligned}$$

and

$$\langle J'_{\lambda,\mu}(t^-u, t^-v), (t^-u, t^-v) \rangle = (t^-)^q [m(t^-) - K_{\lambda,\mu}(u, v)] = 0.$$

Thus, $(t^-u, t^-v) \in N^-_{\lambda,\mu}$. Since for $t > t_{\max}$, we have m'(t) < 0 and m''(t) < 0. Subsequently,

$$J_{\lambda,\mu}(t^-u,t^-v) = \sup_{t\geq 0} J_{\lambda,\mu}(tu,tv).$$

(ii) $K_{\lambda,\mu}(u,v) > 0$. For

$$0 < (|\lambda| ||f||_{L^{p_0}(\Omega, |x|^{-\beta})})^{\frac{p}{p-q}} + (|\mu| ||f||_{L^{p_0}(\Omega, |x|^{-\beta})})^{\frac{p}{p-q}} < \Lambda_0 < \Lambda,$$

we have

$$\begin{split} m(0) &= 0 < K_{\lambda,\mu}(u,v) \\ &\leq C^{\frac{q}{p}} \left(\left(|\lambda| \|f\|_{L^{p_0}(\Omega,|x|^{-\beta})} \right)^{\frac{p}{p-q}} + \left(|\mu| \|f\|_{L^{p_0}(\Omega,|x|^{-\beta})} \right)^{\frac{p}{p-q}} \right)^{\frac{p-q}{p}} \left\| (u,v) \right\|^q \\ &\leq \left(\frac{p-q}{p^*-q} \right)^{\frac{p-q}{p^*-p}} \left(\frac{p^*-p}{p^*-q} \right) \left(\frac{1}{KC^{\frac{p^*}{p}}} \right)^{\frac{p-q}{p^*-p}} \left\| (u,v) \right\|^q \le m(t_{\max}), \end{split}$$

there are unique t^+ and t^- such that $0 < t^+ < t_{\text{max}} < t^-$,

$$m(t^+) = K_{\lambda,\mu}(u,v) = m(t^-), \quad m'(t^+) > 0 > m'(t^-).$$

We have $(t^+u,t^+v) \in N^+_{\lambda,\mu}$, $(t^-u,t^-v) \in N^-_{\lambda,\mu}$; and

$$J_{\lambda,\mu}(t^-u, t^-v) \ge J_{\lambda,\mu}(tu, tv) \ge J_{\lambda,\mu}(t^+u, t^+v), \quad \forall t \in [t^+, t^-],$$

$$J_{\lambda,\mu}(t^+u, t^+v) \le J_{\lambda,\mu}(tu, tv), \quad \forall t \in [0, t_{\max}].$$

Thus

$$J_{\lambda,\mu}(t^+u,t^+v) = \inf_{0 \le t \le t_{\max}} J_{\lambda,\mu}(tu,tv), \quad J_{\lambda,\mu}(t^-u,t^-v) = \sup_{t \ge 0} J_{\lambda,\mu}(tu,tv).$$

This completes the proof. \Box

3 Existence of solutions

Now, we can state our main results.

Theorem 1. Suppose R_0 and c_0 are positive constants with $B(0, 3R_0) \subset \Omega$. In addition to (H1)–(H3) and (A1) hold. Then, there exists $\Lambda > 0$ such that problem (1.1) has a positive solution for each $f \in L^{p_0}(\Omega, |x|^{-\beta})$ satisfying $f(x) \geq 0$ for a.e. $x \in B(0, 3R_0)$,

$$\left(1+R^{\frac{p(1+a-b)(N-p-ap)}{(p-1)(N-p(1+a-b))}}\right)^{-\frac{(N-p(1+a-b))q}{p(1+a-b)}}R^{N-\beta}\inf_{B(0,2R)}f \ge c_0, \text{ for some } R \in (0,R_0],$$

and the parameters λ, μ satisfy

$$0 < \left(|\lambda| \|f\|_{L^{p_0}(\Omega, |x|^{-\beta})}\right)^{\frac{p}{p-q}} + \left(|\mu| \|g\|_{L^{p_0}(\Omega, |x|^{-\beta})}\right)^{\frac{p}{p-q}} < \Lambda.$$

Theorem 2. Suppose R_0 and c_0 are positive constants with $B(0, 3R_0) \subset \Omega$. In addition to (H1)–(H3) and (A1) hold. Then, there exists $\Lambda_0 > 0$ such that problem (1.1) has at least two positive solutions (u_0^+, v_0^+) and (u_0^-, v_0^-) for each $f \in L^{p_0}(\Omega, |x|^{-\beta})$ satisfying $f(x) \geq 0$ for a.e. $x \in B(0, 3R_0)$,

$$\left(1+R^{\frac{p(1+a-b)(N-p-ap)}{(p-1)(N-p(1+a-b))}}\right)^{-\frac{(N-p(1+a-b))q}{p(1+a-b)}}R^{N-\beta}\inf_{B(0,2R)}f \ge c_0, \text{ for some } R \in (0,R_0],$$

and the parameters λ, μ satisfy

$$0 < \left(|\lambda| \|f\|_{L^{p_0}(\Omega, |x|^{-\beta})} \right)^{\frac{p}{p-q}} + \left(|\mu| \|f\|_{L^{p_0}(\Omega, |x|^{-\beta})} \right)^{\frac{p}{p-q}} < \Lambda_0.$$

Before given the proofs of Theorems 1 and 2, we need the following lemma.

Lemma 8. (i) If $0 < (|\lambda| ||f||_{L^{p_0}(\Omega, |x|^{-\beta})})^{\frac{p}{p-q}} + (|\mu| ||f||_{L^{p_0}(\Omega, |x|^{-\beta})})^{\frac{p}{p-q}} < \Lambda$, then there exists a $(PS)_{\theta_{\lambda,\mu}}$ -sequence $\{(u_n, v_n)\} \subset N_{\lambda,\mu}$ in W for $J_{\lambda,\mu}$.

(ii) If $0 < (|\lambda|||f||_{L^{p_0}(\Omega,|x|^{-\beta})})^{\frac{p}{p-q}} + (|\mu|||f||_{L^{p_0}(\Omega,|x|^{-\beta})})^{\frac{p}{p-q}} < \Lambda_0$, then there exists a $(PS)_{\theta_{\lambda,\mu}^-}$ -sequence $\{(u_n, v_n)\} \subset N_{\lambda,\mu}^-$ in W for $J_{\lambda,\mu}$.

Proof. The proof is almost the same as that in Wu [21]. \Box

Theorem 3. If $0 < (|\lambda| ||f||_{L^{p_0}(\Omega, |x|^{-\beta})})^{\frac{p}{p-q}} + (|\mu|| ||f||_{L^{p_0}(\Omega, |x|^{-\beta})})^{\frac{p}{p-q}} < \Lambda$ and (H1)–(H3) hold, then $J_{\lambda,\mu}$ has a minimizer (u_0^+, v_0^+) in $N^+_{\lambda,\mu}$ and it satisfies

- (i) $J_{\lambda,\mu}(u_0^+, v_0^+) = \theta_{\lambda,\mu}^+,$
- (ii) (u_0^+, v_0^+) is a positive solution of (1.1).

Proof. By the Lemma 8(i), there exist a minimizing sequence $\{(u_n, v_n)\}$ for $J_{\lambda,\mu}$ on $N_{\lambda,\mu}$ such that

$$J_{\lambda,\mu}(u_n, v_n) = \theta_{\lambda,\mu} + o(1) \text{ and } J'_{\lambda,\mu}(u_n, v_n) = o(1) \text{ in } W^{-1}.$$
 (3.1)

Then, by Lemma 4 and the continuity of the embedding theorem, there is a subsequence $\{(u_n, v_n)\}$ and $(u_0^+, v_0^+) \in W$ such that

$$\begin{cases} u_n \rightharpoonup u_0^+, \quad v_n \rightharpoonup v_0^+, \quad \text{weakly in } W_0^{1,p}(\Omega, |x|^{-ap}), \\ u_n \rightarrow u_0^+, \quad v_n \rightarrow v_0^+, \quad \text{strongly in } L^q(\Omega, |x|^{-\beta}), \\ u_n \rightarrow u_0^+, \quad v_n \rightarrow v_0^+, \quad \text{a.e in } \Omega, \end{cases}$$
(3.2)

as $n \to \infty$. This implies that

$$K_{\lambda,\mu}(u_n, v_n) \to K_{\lambda,\mu}(u_0^+, v_0^+), \text{ as } n \to \infty.$$

By (3.1) and (3.2), it is easy to prove that (u_0^+, v_0^+) is a weak solution of problem (1.1). Since

$$J_{\lambda,\mu}(u_n, v_n) = \frac{p^* - p}{pp^*} \|(u_n, v_n)\|^p - \frac{p^* - q}{qp^*} K_{\lambda,\mu}(u_n, v_n) \ge -\frac{p^* - q}{qp^*} K_{\lambda,\mu}(u_n, v_n),$$

and by Lemma 4(i),

$$J_{\lambda,\mu}(u_n, v_n) \to \theta_{\lambda,\mu} < 0 \text{ as } n \to \infty$$

Letting $n \to \infty$, we see that $K_{\lambda,\mu}(u_0^+, v_0^+) > 0$.

Now, we prove that

$$\begin{cases} u_n \to u_0^+, & \text{strongly in } W_0^{1,p}(\Omega, |x|^{-ap}), \\ v_n \to v_0^+, & \text{strongly in } W_0^{1,p}(\Omega, |x|^{-ap}), \end{cases}$$

and $J_{\lambda,\mu}(u_0^+, v_0^+) = \theta_{\lambda,\mu}$.

By applying Fatou's lemma and $(u_0^+, v_0^+) \in N_{\lambda,\mu}$, we get

$$\begin{aligned} \theta_{\lambda,\mu} &\leq J_{\lambda,\mu}(u_0^+, v_0^+) = \left(\frac{1}{p} - \frac{1}{p^*}\right) \left\| (u_0^+, v_0^+) \right\|^p - \frac{p^* - q}{qp^*} K_{\lambda,\mu}(u_0^+, v_0^+) \\ &\leq \liminf_{n \to \infty} \left[\left(\frac{1}{p} - \frac{1}{p^*}\right) \left\| (u_n, v_n) \right\|^p - \frac{p^* - q}{qp^*} K_{\lambda,\mu}(u_n, v_n) \right] \\ &\leq \liminf_{m \to \infty} J_{\lambda,\mu}(u_n, v_n) = \theta_{\lambda,\mu}. \end{aligned}$$

This implies that

$$J_{\lambda,\mu}(u_0^+, v_0^+) = \theta_{\lambda,\mu}, \qquad \lim_{n \to \infty} \left\| (u_n, v_n) \right\|^p = \left\| (u_0^+, v_0^+) \right\|^p.$$

Then, $u_n \to u_0^+$ strongly in $W_0^{1,p}(\Omega, |x|^{-ap})$ and $v_n \to v_0^+$ strongly in $W_0^{1,p}(\Omega, |x|^{-ap})$.

Moreover, we have $(u_0^+, v_0^+) \in N_{\lambda,\mu}^+$. In fact, if $(u_0^+, v_0^+) \in N_{\lambda,\mu}^-$, by Lemma 7, there are unique t_0^+ and t_0^- such that $(t_0^+ u_0^+, t_0^+ v_0^+) \in N_{\lambda,\mu}^+$, $(t_0^- u_0^+, t_0^- v_0^+) \in N_{\lambda,\mu}^-$ and $t_0^+ < t_0^- = 1$. Since

$$\frac{d}{dt}J_{\lambda,\mu}(t_0^+u_0^+,t_0^+v_0^+) = 0 \quad \text{and} \quad \frac{d^2}{dt^2}J_{\lambda,\mu}(t_0^+u_0^+,t_0^+v_0^+) > 0,$$

there exist $t_0^+ < \bar{t} \le t_0^-$ such that $J_{\lambda,\mu}(t_0^+ u_{\cdot}^+, t_0^+ v_0^+) < J_{\lambda,\mu}(\bar{t}_0 u_0^+, \bar{t}_0 v_0^+)$. By Lemma 7, we have

$$J_{\lambda,\mu}(t_0^+u_0^+, t_0^+u_0^+) < J_{\lambda,\mu}(\bar{t}_0u_0^+, \bar{t}_0u_0^+) \le J_{\lambda,\mu}(t_0^-u_0^+, t_0^-v_0^+) = J_{\lambda,\mu}(u_0^+, v_0^+)$$

which contradicts $J_{\lambda,\mu}(u_0^+, v_0^+) = \theta_{\lambda,\mu}^+$. Since $J_{\lambda,\mu}(u_0^+, v_0^+) = J_{\lambda,\mu}(|u_0^+|, |v_0^+|)$ and $(|u_0^+|, |v_0^+|) \in N_{\lambda,\mu}^+$. By Lemma 5, we may assume that (u_0^+, v_0^+) is a nonnegative solution of problem (1.1). By the maximum principle, it follows that $u_0^+ > 0, v_0^+ > 0$ in Ω . \Box

The following two lemmas are similar to that in Hsu [16].

Lemma 9. If $\{(u_n, v_n)\} \in W$ is a $(PS)_c$ -sequence for $J_{\lambda,\mu}$ with $(u_n, v_n) \rightharpoonup (u, v)$ in W, then $J'_{\lambda,\mu}(u, v) = 0$, and there exists a positive constant Υ depending on p, q, N and C, such that $J_{\lambda,\mu}(u, v) \geq -\Upsilon((|\lambda| ||f||_{L^{p_0}(\Omega, |x|^{-\beta})})^{\frac{p}{p-q}} + (|\mu| ||f||_{L^{p_0}(\Omega, |x|^{-\beta})})^{\frac{p}{p-q}}).$

Lemma 10. If $\{(u_n, v_n)\} \in W$ be a $(PS)_c$ -sequence for $J_{\lambda,\mu}$, then $\{(u_n, v_n)\}$ is bounded in W.

Denote

$$A_F = \inf_{(u,v)\in W} \bigg\{ \frac{\|(u,v)\|^p}{(\int_{\Omega} |x|^{-bp^*} F(x,u,v) \, dx)^{\frac{p}{p^*}}} \bigg\}.$$

Now, we need the following proposition.

Proposition 1. [13] Suppose that $F \in C^1(\Omega \times \mathbb{R} \times \mathbb{R}, \mathbb{R}^+)$ is positively homogeneous of degree p^* with $p^* > 1$. Then, there exists $M_F > 0$ such that

$$|F(x,u,v)| \le M_F(|u|^{p^*} + |v|^{p^*}), \quad \forall (x,u,v) \in \Omega \times \mathbb{R} \times \mathbb{R},$$

where $M_F = \max\{F(x, u, v) \mid x \in \Omega, u, v \in \mathbb{R}, |u|^{p^*} + |v|^{p^*} = 1\}.$

Also, we need the following version of Brèzis–Lieb lemma [5].

Lemma 11. Consider $F \in C^1(\overline{\Omega}, (\mathbb{R}^+)^2)$ with F(x, 0, 0) = 0 and

$$|F_u(x, u, v)|, |F_v(x, u, v)| \le C_1(|u|^{p^*-1} + |v|^{p^*-1})$$

for some $1 \leq p^* < \infty$, $C_1 > 0$. Let (u_n, v_n) be bounded sequence in $L^{p^*}(\overline{\Omega}, |x|^{-bp^*})$, and such that $(u_n, v_n) \rightharpoonup (u, v)$ weakly in W. Then one has

$$\int_{\Omega} |x|^{-bp^*} F(x, u_n, v_n) \, dx \to \int_{\Omega} |x|^{-bp^*} F(x, u_n - u, v_n - v) \, dx$$
$$+ \int_{\Omega} |x|^{-bp^*} F(x, u, v) \, dx \quad \text{as } n \to \infty.$$

Proof. We will follow the approach presented in [5, 13] to give the proof of this lemma. Using the mean value theorem, for given $0 < |\theta| < 1$, it follows that

$$\begin{split} |x|^{-bp^*} \left| F(x, u_n, v_n) - F(x, u_n - u, v_n - v) \right| \\ &= \left| |x|^{-bp^*} \nabla F(x, u_n - u + \theta u, v_n - v + \theta v) \cdot (u, v) \right| \\ &\leq C_1 |x|^{-bp^*} \left(|u_n - u + \theta u|^{p^* - 1} + |v_n - v + \theta v|^{p^* - 1} \right) |u| \\ &C_1 |x|^{-bp^*} \left(|u_n - u + \theta u|^{p^* - 1} + |v_n - v + \theta v|^{p^* - 1} \right) |v| \\ &\leq C |x|^{-bp^*} \left[|u_n - u|^{p^* - 1} |u| + |u|^{p^*} + |v_n - v|^{p^* - 1} |u| + |v|^{p^* - 1} |u| \\ &|u_n - u|^{p^* - 1} |v| + |u|^{p^* - 1} |v| + |v_n - v|^{p^* - 1} |v| + |v|^{p^*} \right] \\ &\leq C |x|^{-bp^*} \left[|u_n - u|^{p^* - 1} |u| + |v_n - v|^{p^* - 1} |v| + |v|^{p^*} \right] \\ &\leq C |x|^{-bp^*} \left[|u_n - u|^{p^* - 1} |u| + |v_n - v|^{p^* - 1} |v| + |v|^{p^* - 1} |v| \right] . \end{split}$$

Hence, for any $\epsilon > 0$, applying the Young inequality to the last inequality, there exists $C_{\epsilon} > 0$ such that

$$|x|^{-bp^*} |F(x, u_n, v_n) - F(x, u_n - u, v_n - v)| \le \epsilon |x|^{-bp^*} [|u_n - u|^{p^*} + |v_n - v|^{p^*}] + C_{\epsilon} |x|^{-bp^*} (|u|^{p^*} + |v|^{p^*}).$$

Now we define the functions

$$f_n = |x|^{-bp^*} |F(x, u_n, v_n) - F(x, u_n - u, v_n - v) - F(x, u, v)|,$$

$$g_n = f_n - \epsilon |x|^{-bp^*} (|u_n - u|^{p^*} + |v_n - v|^{p^*}).$$

Then

$$f_{n} \leq \epsilon |x|^{-bp^{*}} (|u_{n} - u|^{p^{*}} + |v_{n} - v|^{p^{*}}) + C_{\epsilon} |x|^{-bp^{*}} (|u|^{p^{*}} + |v|^{p^{*}}) + |x|^{-bp^{*}} |F(x, u, v)|,$$

$$g_{n} \leq |x|^{-bp^{*}} |F(x, u, v)| + C_{\epsilon} |x|^{-bp^{*}} (|u|^{p^{*}} + |v|^{p^{*}}) \leq M_{F} |x|^{-bp^{*}} (|u|^{p^{*}} + |v|^{p^{*}}) + C_{\epsilon} |x|^{-bp^{*}} (|u|^{p^{*}} + |v|^{p^{*}}) \leq (M_{F} + C_{\epsilon}) |x|^{-bp^{*}} (|u|^{p^{*}} + |v|^{p^{*}}) \in L^{1}(\Omega, |x|^{-bp^{*}}).$$

Since $(u_n, v_n) \rightarrow (u, v)$ in W, we can assume that $u_n \rightarrow u$, $v_n \rightarrow v$ a.e. in Ω . Thus, $g_n \rightarrow 0$ a.e. in Ω as $n \rightarrow \infty$. The Lebesgue dominated convergence theorem implies that

$$\lim_{n \to \infty} \int_{\Omega} g_n(x) \, dx = 0.$$

Therefore, we obtain

$$\limsup_{n \to \infty} \int_{\Omega} f_n(x) \, dx \leq \limsup_{n \to \infty} \int_{\Omega} \left(g_n(x) + \epsilon |x|^{-bp^*} \left(|u_n - u|^{p^*} + |v_n - v|^{p^*} \right) \right) \, dx$$
$$\leq \limsup_{n \to \infty} \int_{\Omega} g_n(x) \, dx + \epsilon \limsup_{n \to \infty} \int_{\Omega} |x|^{-bp^*} \left(|u_n - u|^{p^*} + |v_n - v|^{p^*} \right) \, dx$$
$$\leq C_{\epsilon}.$$

By the arbitrariness of $\epsilon > 0$, one has

$$\lim_{n \to \infty} \int_{\Omega} f_n(x) \, dx = 0.$$

This completes the proof. \Box

Lemma 12. $J_{\lambda,\mu}$ satisfies the $(PS)_{c_F}$ condition with c_F satisfying

$$-\infty < c_F < c_{\infty} = \left(\frac{1}{p} - \frac{1}{p^*}\right) A_F^{\frac{p^*}{p^* - p}} - \Upsilon\left(\left(|\lambda| \|f\|_{L^{p_0}(\Omega, |x|^{-\beta})}\right)^{\frac{p}{p-q}} + \left(|\mu| \|f\|_{L^{p_0}(\Omega, |x|^{-\beta})}\right)^{\frac{p}{p-q}}\right)$$

N. Nyamoradi

Proof. Let $\{(u_n, v_n)\} \in W$ be a $(PS)_{c_F}$ -sequence for $J_{\lambda,\mu}$ with $c_F \in (-\infty, c_\infty)$. It follows from Lemma 10 that $\{(u_n, v_n)\}$ is bounded in W, and then $(u_n, v_n) \rightharpoonup (u, v)$ up to a subsequence, (u, v) is a critical point of $J_{\lambda,\mu}$. Moreover, we may assume

$$\begin{cases} u_n \rightharpoonup u, \quad v_n \rightharpoonup v, & \text{weakly in } W_0^{1,p}(\Omega, |x|^{-ap}), \\ u_n \rightarrow u, & u_n \rightarrow u, & \text{strongly in } L^q(\Omega, |x|^{-\beta}), \\ u_n \rightarrow u, & u_n \rightarrow u, & \text{a.e. on } \Omega. \end{cases}$$

Hence, we have that $J'_{\lambda,\mu}(u,v) = 0$ and

$$K_{\lambda,\mu}(u_n, v_n) \to K_{\lambda,\mu}(u, v), \quad \text{as } n \to \infty.$$
 (3.3)

Let $\widetilde{u}_n = u_n - u$, $\widetilde{v}_n = v_n - v$. Then by Brèzis–Lieb lemma [5], we obtain

$$\left\| \left(\widetilde{u}_n, \widetilde{v}_n\right) \right\|^p \to \left\| \left(u_n, v_n\right) \right\|^p - \left\| \left(u, v\right) \right\|^p, \quad \text{as } n \to \infty,$$
(3.4)

and by Lemma 11,

$$\int_{\Omega} |x|^{-bp^*} F(x, \tilde{u}_n, \tilde{v}_n) \, dx \to \int_{\Omega} |x|^{-bp^*} F(x, u_n, v_n) \, dx$$
$$- \int_{\Omega} |x|^{-bp^*} F(x, u, v) \, dx, \quad \text{as } n \to \infty.$$
(3.5)

Since $J_{\lambda,\mu}(u_n, v_n) = c_F + o(1)$, $J'_{\lambda,\mu}(u_n, v_n) = o(1)$ and (3.3)–(3.5), we can deduce that

$$\frac{1}{p} \left\| \left(\widetilde{u}_n, \widetilde{v}_n \right) \right\|^p - \frac{1}{p^*} \int_{\Omega} |x|^{-bp^*} F(x, \widetilde{u}_n, \widetilde{v}_n) \, dx = c_F - J_{\lambda,\mu}(u, v) + o(1), \quad (3.6)$$
$$\left\| \left(\widetilde{u}_n, \widetilde{v}_n \right) \right\|^p - \int_{\Omega} |x|^{-bp^*} F(x, \widetilde{u}_n, \widetilde{v}_n) \, dx = o(1).$$

Thus, we may assume that

$$\left\| \left(\widetilde{u}_n, \widetilde{v}_n\right) \right\|^p \to l, \quad \int_{\Omega} |x|^{-bp^*} F(x, \widetilde{u}_n, \widetilde{v}_n) \, dx \to l. \tag{3.7}$$

If l = 0, the proof is completed. Assume l > 0, then from (3.7), we obtain

$$A_F l^{\frac{p}{p^*}} = A_F \lim_{n \to \infty} \left(\int_{\Omega} |x|^{-bp^*} F(x, \widetilde{u}_n, \widetilde{v}_n) \, dx \right)^{p/p^*} \le \lim_{n \to \infty} \left\| (\widetilde{u}_n, \widetilde{v}_n) \right\|^p = l,$$

which implies that $l \ge A_F^{\frac{p^*}{p^*-p}}$.

In additional, from Lemma 9, (3.6) and (3.7), we get

$$c_{F} = \left(\frac{1}{p} - \frac{1}{p^{*}}\right)l + J_{\lambda,\mu}(u,v) \ge \left(\frac{1}{p} - \frac{1}{p^{*}}\right)A_{F}^{\frac{p^{*}}{p^{*}-p}} - \Upsilon\left(\left(|\lambda|\|f\|_{L^{p_{0}}(\Omega,|x|^{-\beta})}\right)^{\frac{p}{p-q}} + \left(|\mu|\|f\|_{L^{p_{0}}(\Omega,|x|^{-\beta})}\right)^{\frac{p}{p-q}}\right),$$

which contradicts

$$c_{F} < \left(\frac{1}{p} - \frac{1}{p^{*}}\right) A_{F}^{\frac{p^{*}}{p^{*}-p}} - \Upsilon\left(\left(|\lambda| \|f\|_{L^{p_{0}}(\Omega,|x|^{-\beta})}\right)^{\frac{p}{p-q}} + \left(|\mu| \|f\|_{L^{p_{0}}(\Omega,|x|^{-\beta})}\right)^{\frac{p}{p-q}}\right).$$

Lemma 13. There exist a non-negative function $(u, v) \in W \setminus \{(0, 0)\}$ and $C^* > 0$ such that for

$$0 < (|\lambda| ||f||_{L^{p_0}(\Omega, |x|^{-\beta})})^{\frac{p}{p-q}} + (|\mu| ||f||_{L^{p_0}(\Omega, |x|^{-\beta})})^{\frac{p}{p-q}} < C^*,$$

we have

$$\sup_{t \ge 0} J_{\lambda,\mu}(tu, tv) < A_F.$$

In particular $\theta^{-}_{\lambda,\mu} < c_{\infty}$ for all

$$0 < \left(|\lambda| \|f\|_{L^{p_0}(\Omega, |x|^{-\beta})} \right)^{\frac{p}{p-q}} + \left(|\mu| \|f\|_{L^{p_0}(\Omega, |x|^{-\beta})} \right)^{\frac{p}{p-q}} < C^*.$$

Proof. We fix in Lemma 1 the constants $R_1 = R_0$ and $c_1 = c_0$. Now, we consider the functional $I: W \to \mathbb{R}$ defined by

$$I(u,v) = \frac{1}{p} \|(u,v)\|^p - \frac{1}{p^*} \int_{\Omega} |x|^{-bp^*} F(x,u,v) \, dx \quad \text{for all } (u,v) \in W.$$

Set $u_0 = e_1 u_{\epsilon}$, $v_0 = e_2 u_{\epsilon}$ and $(u_0, v_0) \in W$, where $(e_1, e_2) \in (\mathbb{R}^+)^2$, $e_1^p + e_2^p = 1$ and $\inf_{x \in \overline{\Omega}} F(x, e_1, e_2) \geq K$. Then by (H1) and (2.8), the definition of A_F and Lemma 1, we obtain that

$$\sup_{t\geq 0} I(te_{1}u_{\epsilon}, te_{2}u_{\epsilon}) \leq \left(\frac{1}{p} - \frac{1}{p^{*}}\right) \left(\frac{(e_{1}^{p} + e_{2}^{p})\int_{\Omega}|x|^{-ap}|\Delta u_{\epsilon}|^{p} dx}{(\int_{\Omega}|x|^{-bp^{*}}F(x, e_{1}u_{\epsilon}, e_{2}u_{\epsilon}) dx)^{\frac{p}{p^{*}}}}\right)^{\frac{p}{p^{*}-p}} \\
\leq \left(\frac{1}{p} - \frac{1}{p^{*}}\right) \left(\frac{\int_{\Omega}|x|^{-ap}|\Delta u_{\epsilon}|^{p} dx}{K^{\frac{p}{p^{*}}}(\int_{\Omega}|x|^{-bp^{*}}|u_{\epsilon}|^{p^{*}} dx)^{\frac{p}{p^{*}}}}\right)^{\frac{p^{*}}{p^{*}-p}} \\
\leq \left(\frac{1}{p} - \frac{1}{p^{*}}\right) \left(\frac{1}{K^{\frac{p}{p^{*}}}}\right)^{\frac{p^{*}}{p^{*}-p}} (\widetilde{S}_{a,p,R} + O(\epsilon^{\frac{N-p(1+a-b)}{p(1+a-b)}}))^{\frac{p^{*}}{p^{*}-p}} \\
\leq \left(\frac{1}{p} - \frac{1}{p^{*}}\right) \left(\frac{1}{K^{\frac{p}{p^{*}}}}\right)^{\frac{p^{*}}{p^{*}-p}} (\widetilde{S}_{a,p,R}^{\frac{p^{*}}{p^{*}-p}} + O(\epsilon^{\frac{N-p(1+a-b)}{p(1+a-b)}}))^{\frac{p^{*}}{p^{*}-p}} \\
\leq \left(\frac{1}{p} - \frac{1}{p^{*}}\right) A_{F}^{\frac{p^{*}}{p^{*}-p}} + O(\epsilon^{\frac{N-p(1+a-b)}{p(1+a-b)}}), \quad (3.8)$$

where the following fact has been used:

$$\sup_{t \ge 0} \left(\frac{t^p}{p} A - \frac{t^{p^*}}{p^*} B \right) = \left(\frac{1}{p} - \frac{1}{p^*} \right) \left(\frac{A}{B^{\frac{p}{p^*}}} \right)^{\frac{p^*}{p^* - p}}, \quad A, B > 0.$$

We can choose $\delta_1 > 0$ such that for all

$$0 < \left(|\lambda| \|f\|_{L^{p_0}(\Omega, |x|^{-\beta})} \right)^{\frac{p}{p-q}} + \left(|\mu| \|f\|_{L^{p_0}(\Omega, |x|^{-\beta})} \right)^{\frac{p}{p-q}} < \delta_1,$$

we have

$$c_{\infty} = \frac{p^* - p}{pp^*} A_F^{\frac{p^*}{p^* - p}} - \Upsilon\left(\left(|\lambda| \|f\|_{L^{p_0}(\Omega, |x|^{-\beta})}\right)^{\frac{p}{p-q}} + \left(|\mu| \|f\|_{L^{p_0}(\Omega, |x|^{-\beta})}\right)^{\frac{p}{p-q}}\right) > 0.$$

Using the definitions of J(u, v) and (u_0, v_0) , we get

$$J_{\lambda,\mu}(tu_0, tv_0) \le \frac{t^p}{p} \left\| (u_0, u_0) \right\|^p \quad \text{for all } t \ge 0 \text{ and } \lambda, \mu > 0,$$

which implies that there exists $t_0 \in (0, 1)$ satisfying

$$\sup_{0 \le t \le t_0} J_{\lambda,\mu}(t_0 u_0, t_0 u_0) < c_{\infty},$$

for all

$$0 < \left(|\lambda| \|f\|_{L^{p_0}(\Omega, |x|^{-\beta})} \right)^{\frac{p}{p-q}} + \left(|\mu| \|f\|_{L^{p_0}(\Omega, |x|^{-\beta})} \right)^{\frac{p}{p-q}} < \delta_1.$$

Using the definitions of J(u, v) and (u_0, v_0) , and by (3.8), we have

$$\sup_{t \ge t_0} J_{\lambda,\mu}(t_0 u_0, t_0 u_0) = \sup_{t \ge t_0} \left(I(t_0 u_0, t_0 u_0) - \frac{t^q}{q} K_{\lambda,\mu}(u_0^+, v_0^+) \right)$$

$$\leq \left(\frac{1}{p} - \frac{1}{p^*} \right) A_F^{\frac{p^*}{p^* - p}} + O\left(\epsilon^{\frac{N - p(1 + a - b)}{p(1 + a - b)}} \right) - \frac{t_0^q}{q} m(\lambda + \mu) \int_{B(x_0, R_0)} |u_\epsilon|^q dx, \quad (3.9)$$

where $m = \min\{e_1^q, e_2^q\}$. We observe that

$$\frac{(N-p(1+a-b))q}{p^2(1+a-b)} < \frac{N-p(1+a-b)}{p(1+a-b)}.$$
(3.10)

Suppose $q < \frac{(N-\beta)(p-1)}{N-p-ap}$. The inequalities (3.9), (3.10) and Lemma 1, imply

$$\sup_{t \ge t_0} J_{\lambda,\mu}(t_0 u_0, t_0 u_0) \le \left(\frac{1}{p} - \frac{1}{p^*}\right) A_F^{\frac{p^*}{p^* - p}} + O(\epsilon^{\frac{N - p(1 + a - b)}{p(1 + a - b)}}) - \frac{t_0^q}{q} m(\lambda + \mu) O(\epsilon^{\frac{(N - p(1 + a - b))q}{p^2(1 + a - b)}}).$$
(3.11)

Now, for all

$$\epsilon = \left(\left(|\lambda| \|f\|_{L^{p_0}(\Omega, |x|^{-\beta})} \right)^{\frac{p}{p-q}} + \left(|\mu| \|f\|_{L^{p_0}(\Omega, |x|^{-\beta})} \right)^{\frac{p}{p-q}} \right)^{\frac{p(1+a-b)}{N-p(1+a-b)}} \in (0, R_0),$$

we get

$$\sup_{t \ge t_0} J_{\lambda,\mu}(t_0 u_0, t_0 v_0) \le \left(\frac{1}{p} - \frac{1}{p^*}\right) A_F^{\frac{p^*}{p^* - p}} + O\left(\left(|\lambda| ||f||_{L^{p_0}(\Omega, |x|^{-\beta})}\right)^{\frac{p}{p-q}} + \left(|\mu| ||f||_{L^{p_0}(\Omega, |x|^{-\beta})}\right)^{\frac{p}{p-q}} - \frac{t_0^q}{q} m(\lambda + \mu) \left(\left(|\lambda| ||f||_{L^{p_0}(\Omega, |x|^{-\beta})}\right)^{\frac{p}{p-q}} + \left(|\mu| ||f||_{L^{p_0}(\Omega, |x|^{-\beta})}\right)^{\frac{p}{p-q}} \right)^{\frac{p}{p}}.$$

Thus, we can choose $\delta_2 > 0$ such that for all $0 < (|\lambda| ||f||_{L^{p_0}(\Omega, |x|^{-\beta})})^{\frac{p}{p-q}} + (|\mu| ||f||_{L^{p_0}(\Omega, |x|^{-\beta})})^{\frac{p}{p-q}} < \delta_2$, we obtain

$$O((|\lambda|||f||_{L^{p_0}(\Omega,|x|^{-\beta})})^{\frac{p}{p-q}} + (|\mu|||f||_{L^{p_0}(\Omega,|x|^{-\beta})})^{\frac{p}{p-q}}) - \frac{t_0^q}{q}m(\lambda+\mu)((|\lambda|||f||_{L^{p_0}(\Omega,|x|^{-\beta})})^{\frac{p}{p-q}} + (|\mu|||f||_{L^{p_0}(\Omega,|x|^{-\beta})})^{\frac{p}{p-q}})^{\frac{q}{p}} \leq -\Upsilon((|\lambda|||f||_{L^{p_0}(\Omega,|x|^{-\beta})})^{\frac{p}{p-q}} + (|\mu|||f||_{L^{p_0}(\Omega,|x|^{-\beta})})^{\frac{p}{p-q}}).$$

If we set $C^* = \min\{\delta_1, R_0, \delta_2\}$ and

$$\epsilon = \left(\left(|\lambda| \|f\|_{L^{p_0}(\Omega, |x|^{-\beta})} \right)^{\frac{p}{p-q}} + \left(|\mu| \|f\|_{L^{p_0}(\Omega, |x|^{-\beta})} \right)^{\frac{p}{p-q}} \right)^{\frac{p(1+a-b)}{N-p(1+a-b)}},$$

then for

$$0 < (|\lambda| ||f||_{L^{p_0}(\Omega, |x|^{-\beta})})^{\frac{p}{p-q}} + (|\mu| ||f||_{L^{p_0}(\Omega, |x|^{-\beta})})^{\frac{p}{p-q}} < C^*,$$

we have

$$\sup_{t \ge t_0} J_{\lambda,\mu}(t_0 u_0, t_0 u_0) \le c_{\infty}.$$
(3.12)

Similarly, let $q = \frac{(N-\beta)(p-1)}{N-p-ap}$, by inequalities (3.9), (3.10) and Lemma 1, one can get

$$\sup_{t \ge t_0} J_{\lambda,\mu}(t_0 u_0, t_0 u_0) \le \left(\frac{1}{p} - \frac{1}{p^*}\right) A_F^{\frac{p^*}{p^* - p}} + O\left(\epsilon^{\frac{N - p(1 + a - b)}{p(1 + a - b)}}\right) - \frac{t_0^q}{q} m(\lambda + \mu) O\left(\epsilon^{\frac{(N - p(1 + a - b))q}{p^2(1 + a - b)}} |\ln \epsilon|\right).$$
(3.13)

If $q > \frac{(N-\beta)(p-1)}{N-p-ap}$, then

$$\sup_{t \ge t_0} J_{\lambda,\mu}(t_0 u_0, t_0 u_0) \le \left(\frac{1}{p} - \frac{1}{p^*}\right) A_F^{\frac{p^*}{p^* - p}} + O\left(\epsilon^{\frac{N - p(1 + a - b)}{p(1 + a - b)}}\right) - \frac{t_0^q}{q} m(\lambda + \mu) O\left(\epsilon^{\frac{(N - p(1 + a - b))(p - 1)[(N - \beta)p - (N - p - ap)q]}{p^2(1 + a - b)(N - p - ap)}}\right),$$
(3.14)

then, by (3.13) and (3.14), we have

$$\sup_{t \ge t_0} J_{\lambda,\mu}(t_0 u_0, t_0 u_0) \le c_{\infty}.$$
(3.15)

Finally, we prove that $\theta^-_{\lambda,\mu} < c_\infty$ for all

$$0 < (|\lambda| ||f||_{L^{p_0}(\Omega, |x|^{-\beta})})^{\frac{p}{p-q}} + (|\mu| ||f||_{L^{p_0}(\Omega, |x|^{-\beta})})^{\frac{p}{p-q}} < C^*.$$

Recall $(u_0, v_0) = (e_1 u_{\epsilon}, e_2 u_{\epsilon})$. It is easy to see that

$$\int_{\Omega} |x|^{-bp^*} F(x, u_0, v_0) \, dx > 0.$$

Combining this with Lemma 7, from the definition of $\theta_{\lambda,\mu}^-$, (3.12) and (3.15), we obtain that there exists $t_0 > 0$ such that $(t_0 u_0, t_0 v_0) \in N_{\lambda,\mu}^-$ and

$$\theta_{\lambda,\mu}^{-} \leq J_{\lambda,\mu}(t_0 u_0, t_0 v_0) \leq \sup_{t \geq t_0} J_{\lambda,\mu}(t_0 u_0, t_0 u_0) < c_{\infty},$$

for all $0 < (|\lambda| ||f||_{L^{p_0}(\Omega, |x|^{-\beta})})^{\frac{p}{p-q}} + (|\mu| ||f||_{L^{p_0}(\Omega, |x|^{-\beta})})^{\frac{p}{p-q}} < C^*.$

Theorem 4. If

$$0 < (|\lambda| ||f||_{L^{p_0}(\Omega, |x|^{-\beta})})^{\frac{p}{p-q}} + (|\mu| ||f||_{L^{p_0}(\Omega, |x|^{-\beta})})^{\frac{p}{p-q}} < C_0^*$$

and (H1)–(H3) hold, then $J_{\lambda,\mu}$ has a minimizer (u_0^-, v_0^-) in $N_{\lambda,\mu}^-$ and it satisfies

(i) $J_{\lambda,\mu}(u_0^-, v_0^-) = \theta_{\lambda,\mu}^-$,

(ii) (u_0^-, v_0^-) is a positive solution of (1.1),

where $C_0^* = \min\{C^*, \Lambda_0\}.$

Proof. By the Lemma 8(ii), there exists a minimizing sequence $\{(u_n, v_n)\} \subset N_{\lambda,\mu}^-$ in W for $J_{\lambda,\mu}$ for all

$$0 < \left(|\lambda| \|f\|_{L^{p_0}(\Omega, |x|^{-\beta})}\right)^{\frac{p}{p-q}} + \left(|\mu| \|f\|_{L^{p_0}(\Omega, |x|^{-\beta})}\right)^{\frac{p}{p-q}} < C_0.$$

From Lemmas 12, 13 and 6(ii), for

$$0 < \left(|\lambda| \|f\|_{L^{p_0}(\Omega, |x|^{-\beta})} \right)^{\frac{p}{p-q}} + \left(|\mu| \|f\|_{L^{p_0}(\Omega, |x|^{-\beta})} \right)^{\frac{p}{p-q}} < C^*,$$

 $J_{\lambda,\mu}$ satisfies $(PS)_{\theta_{\lambda,\mu}^-}$ condition and $\theta_{\lambda,\mu}^- > 0$. Since $J_{\lambda,\mu}$ is coercive on $N_{\lambda,\mu}$, we get that (u_n, v_n) is bounded in W. Therefore, there exists a subsequence still denote by (u_n, v_n) and $(u_0^-, v_0^-) \in N_{\lambda,\mu}^-$ such that $(u_n, v_n) \to (u_0^-, v_0^-)$ strongly in W and $J_{\lambda,\mu}(u_0^-, v_0^-) = \theta_{\lambda,\mu}^- > 0$ for all

$$0 < (|\lambda| ||f||_{L^{p_0}(\Omega, |x|^{-\beta})})^{\frac{p}{p-q}} + (|\mu| ||f||_{L^{p_0}(\Omega, |x|^{-\beta})})^{\frac{p}{p-q}} < C_0^*.$$

Finally, by the same arguments as in the proof of Theorem 3, for all

$$0 < (|\lambda| ||f||_{L^{p_0}(\Omega, |x|^{-\beta})})^{\frac{p}{p-q}} + (|\mu| ||f||_{L^{p_0}(\Omega, |x|^{-\beta})})^{\frac{p}{p-q}} < C_0^*$$

we have that (u_0^-, v_0^-) is a positive solution of problem (1.1). \Box

Now, we complete the proof of Theorem 1 and Theorem 2: By Theorem 3, we obtain that for all $0 < (|\lambda| ||f||_{L^{p_0}(\Omega, |x|^{-\beta})})^{\frac{p}{p-q}} + (|\mu|| ||f||_{L^{p_0}(\Omega, |x|^{-\beta})})^{\frac{p}{p-q}} < C$, problem (1.1) has a positive solution $(u_0^+, v_0^+) \in N_{\lambda,\mu}^+$. On the other hand, from Theorem 4, we get the second positive solution $(u_0^-, v_0^-) \in N_{\lambda,\mu}^-$ for all

$$0 < (|\lambda| ||f||_{L^{p_0}(\Omega, |x|^{-\beta})})^{\frac{p}{p-q}} + (|\mu| ||f||_{L^{p_0}(\Omega, |x|^{-\beta})})^{\frac{p}{p-q}} < C_0^* < C_0^*$$

Since $N_{\lambda,\mu}^+ \cap N_{\lambda,\mu}^- = \emptyset$, this implies that (u_0^+, v_0^+) and (u_0^-, v_0^-) are distinct. This completes the proofs of Theorem 1 and Theorem 2.

Acknowledgement

The author would like to thank the anonymous referee for his/her valuable suggestions and comments.

References

- G.A. Afrouzi and S.H. Rasouli. The nehari manifold for a class of concave-convex elliptic systems involving the *p*-Laplacian and nonlinear boundary condition. *Nonlinear Anal.*, **73**:3390–3401, 2010. http://dx.doi.org/10.1016/j.na.2010.07.021.
- [2] C.O. Alves and A. El Hamidi. Nehari manifold and existence of positive solutions to a class of quasilinear problems. *Nonlinear Anal.*, **60**:611–624, 2005. http://dx.doi.org/10.1016/j.na.2004.09.039.
- [3] R.B. Assunç ao, P.C. Carri ao and O.H. Miyagaki. The subcritical perturbations of a singular quasilinear elliptic equation involving the critical Hardy-Sobolev exponent. *Nonlinear Anal.*, 66:1351–1364, 2007. http://dx.doi.org/10.1016/j.na.2006.01.027.
- [4] P.A. Binding, P. Drabek and Y.X. Huang. On Neumann boundary value problems for some quasilinear elliptic equations. *Electron. J. Differential Equations*, 5:1–11, 1997.
- [5] H. Brèzis and E. Lieb. A relation between pointwise convergence of functions and convergence of functionals. *Proc. Amer. Math. Soc.*, 88:486–490, 1983. http://dx.doi.org/10.2307/2044999.
- K.J. Brown. The Nehari manifold for a semilinear elliptic equation involving a sublinear term. *Calc. Var.*, 22:483–494, 2005. http://dx.doi.org/10.1007/s00526-004-0289-2.
- K.J. Brown and T.F. Wu. On semilinear elliptic equations involving concaveconvex nonlinearities and sign-changing weight function. J. Math. Anal., 318:253–270, 2006. http://dx.doi.org/10.1016/j.jmaa.2005.057.
- [8] K.J. Brown and T.F. Wu. A fibering map approach to a semilinear elliptic boundary value problem. *Electron. J. Differential Equations*, 69:1–9, 2007.
- [9] K.J. Brown and T.F. Wu. Multiplicity of positive solution of p-Laplacian problems with sign-changing weight function. Int. J. Math. Anal., 1(12):557–563, 2007.
- [10] K.J. Brown and T.F. Wu. A semilinear elliptic system involving nonlinear boundary condition and sign changing weight function. J. Math. Anal. Appl., 337:1326– 1336, 2008. http://dx.doi.org/10.1016/j.jmaa.2007.04.064.
- [11] K.J. Brown and Y. Zhang. The Nehari manifold for a semilinear elliptic problem with a sign changing weight function. J. Differential Equations, 193:481–499, 2003. http://dx.doi.org/10.1016/S0022-0396(03)00121-9.
- [12] L. Caffarelli, R. Kohn and L. Nirenberg. First order interpolation inequalities with weights. *Compos. Math.*, 53:259–275, 1984.
- [13] M.A.S. Souto D.C. de Morais Filho. Systems of p-Laplacian equations involving homogeneous nonlinearities with critical Sobolev exponent degrees. Comm. Partial Differential Equations, 24:1537–1553, 1999. http://dx.doi.org/10.1080/03605309908821473.

- [14] P. Drabek and S.I. Pohozaev. Positive solutions for the p-Laplacian: application of the fibering method. Proc. Roy. Soc. Edinburgh Sect. A, 127:721-747, 1997. http://dx.doi.org/10.1017/S0308210500023787.
- [15] T. Horiuchi. Best constant in weighted Sobolev inequality with weights being powers of distance from origin. J. Inequal. Appl., 1:275–292, 1997.
- [16] T.S. Hsu. Multiple positive solutions for a critical quasilinear elliptic system with concave-convex nonlinearities. *Nonlinear Anal.*, **71**:2688–2698, 2009. http://dx.doi.org/10.1016/j.na.2009.01.110.
- [17] L. Huang, X.P. Wu and C.L. Tang. Existence and multiplicity of solutions for semilinear elliptic equations with critical weighted Hardy–Sobolev exponents. *Nonlinear Anal.*, **71**:1916–1924, 2009. http://dx.doi.org/10.1016/j.na.2009.01.027.
- [18] D. Kang. Nontrivial solutions to semilinear elliptic problems involving two critical Hardy–Sobolev exponents. Nonlinear Anal., 72:4230–4243, 2010. http://dx.doi.org/10.1016/j.na.2010.01.053.
- [19] O.H. Miyagaki and R.S. Rodrigues. On multiple solutions for a singular quasilinear elliptic system involving critical Hardy–Sobolev exponents. *Houston J. Math.*, 34:1271–1293, 2008.
- [20] R.S. Rodrigues. On elliptic problems involving critical Hardy–Sobolev exponents and sign-changing function. Nonlinear Anal., 73:857–880, 2010. http://dx.doi.org/10.1016/j.na.2010.03.053.
- [21] T.F. Wu. On semilinear elliptic equations involving concave-convex nonlinearities and sign changing weight function. J. Math. Anal. Appl., 318:253–270, 2006. http://dx.doi.org/10.1016/j.jmaa.2005.05.057.
- [22] B. Xuan. The solvability of quasilinear Brezis–Nirenberg-type problems with singular weights. *Nonlinear Anal.*, **62**:703–725, 2005. http://dx.doi.org/10.1016/j.na.2005.03.095.